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3. AR f(x) =0 1E (k. k) LA HRE LR, 5 fk)fk,) <0 AZEAT,
&2l ER— DD EMA RS FME T, 7
ax2+bx+c=0(a¢0)ﬁ HREAH — 1L WBE (kl,kz)ljil ,/—{—% T

FOOSU) <0 B fk) =0 k<- <P H f) =0 H
M<_i<k .
2 2a

4WE®LMQ& GRS L]
BRI A f(x) = ax® + bx + c(a = 0) 7E P X [8] [p,q] b W) & fE A GE 7E

zi % X [ PRI 3 A AR AR, B AR T
(1) a0 F e x=—§%ebﬂL ny
S i fe—af(nam%Umafm»:
x:-zfugL S sy = AL DL L@} 5 )i =ain {S(P) S (@)} -
(2% a0 B, % x=-"elpal, W (@, =min{f(p).f @)},

x= —% g[p.gls W £(x),0 =max{f(p), [(@)}» [(x)y, =min{f(p),f ()}
5. — JL IR JT FE I SEAR 4 A
KA B ) fy<0, WIITFE £(x0) = 0 1E X 18] (m,n) W B 20 A — AN 5K
.

ixf(x) X, +px+q, il
(D7 T2 £ =07E X 18] (maoo) N H MBI 78 B 4 4 N fomy=0k
p2 49 >0

(2)F7 18 f(x)=01E X 18] (m,n) N A W 78 XA A f(m)f(n)<0BL

& 4000-121-121 b EUER



e famligl 8 AHHREE XIAREF a EER

f(m)>0

0 glIm=0 g [rm=o0
af(n)>0" |af(m)>0’

m<-L<n
2

(3)H FE f(x)=07E X 8] (~o,m) N H MR K 78 B % 4N fm)<osk
p2—4q20

Lom

2

6. 52 X [A) |55 S8 — kAN S AU AT 1 26 A Al

(1) FE45 58 [X (8] (—o0,400) BT X 18] L (B U [e, ] (~o0, 85 [, +o0) AN [AD)
EE&ZH ZIRAER £ 20 (¢S 380 18 5L 78 2 5% 2
S0 20(x 2 L).

(2) FE25 %€ X 8] (—o0 +00) [T X B]_E& ZHH “IRAFNX f(r20 (14
SO AL TR AEE f(x0),,, <O(x2 L).

a>0

(3) f(x):ax4+bx2+c>0‘fﬁﬁijﬁﬁﬁ$¢/ﬁﬁ:m b>0jﬁ{b2 dae <0
c>0

7. HAHR

pla|d |p Z|p H

p q q

HIE R H H

B[ & H 1

AR H 1

YRR i {54

8. BRI H
(1) % x, - x, €la,blx, = x, A
(x, =) [f(x) = f(x,)]>0 = PAC VS YIS 0< f(x)1E[a,b] LRI R

X=X,
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(1) f(x)=fx+a), W re)BIFEA T=a;

(2) f(x)=f(x+a)=0, B f(x+a)=ﬁ(f(x)¢0), 511 f(x+a):—ﬁ
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1
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f(x) B JEBA T=4a;

(5) f(x)+ f(x+a)+ f(x+2a)f(x+3a)+ [(x+4a) = f(x) f(x+a) f(x+2a) f(x+3a) f (x+4a), NI
f(x) B JEBA T=ba;
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(1) @a) =a.
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log, N=b<>a"=N (a>0,a=1,N >0).
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log N
log, N = S (a>0, Haxl m>0, Hm=1, N>0).
log, a
N . N
e log .. b =Z10gab(a>0,ﬂa>1,m,n>0,ﬂm¢1,n¢1, N>0)-
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sin30 =3sin@—4sin’ 0 = 4sin6’sin(§—6’) sin(§+ 0).

FERIEF x =

cos36 =4cos’ @—3cosd = 4cos0cos(%— 0) cos(% +0).

_3tanf—tan’ 0
1-3tan’ @
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(1) S=%aha =%bhb =%ch€ (h by b3 AERS av by ¢ U ERTE).

tan 36 =tand tan(% -0) tan(% +0).

(2) S:labsinC:lbcsinA :lcasinB.
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(3) S1013 =5 ([ O4|-| OB|)’ ~(04-0B)’ .
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(1) K P(x,y) IZ VR a=(h, k) VR JE R B R P (x+ b,y +).

(2) BREy = f(0) ER CHZIAI R a=(h, k) TR EREIER C, W C 1B
i&ﬁﬁ*ﬁﬁyﬂy:ﬂx—hhk.

(3) BIR Cc ¥z a= k) FRERBIER C, % c MENT Ky = r(x) U
C RN A y = f(x+h) k.
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(5) [/ m=(x,y) XI5 a=(h,k) P13 B [ ETIA N n=(x, ).
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|. (llzy=k1x+b1, ,:y=kx+b,, klkzi—l)

2™

& 4000-121-121 b EUER



e famligl 8 AHHREE XIAREF a EER

AB,— AB
A% T A% BZBI . (1:4x+By+C =0, I,: 4,x+B,y+C, =0,
+

4,4, + BB, +0). HE LN, HE 115 1 E"J%ﬁﬁ:%
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